
SAP ABAP table ICL_IBNR_RESULT {IBNR Reserves}

ICL_IBNR_RESULT

CLIENT [CLNT (3)]

ACCOUNTINGYEAR [NUMC (4)]

ACCOUNTINGMONTH [NUMC (2)]

RESGRTYPE [CHAR (10)]

ACCYEAR [NUMC (4)]

IBNRNUMBER [NUMC (10)]

IBNRCURR [CUKY (5)]

RSQUANUNIT [UNIT (3)]

T000

MANDT [CLNT (3)] ICL_IBNR_RESULT-CLIENT = T000-MANDT 
0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ICL_IBNR_RESULT-RSQUANUNIT = T006-MSEHI 
0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 ICL_IBNR_RESULT-IBNRCURR = TCURC-WAERS 

0..N

1

TICL860

CLIENT [CLNT (3)]

RESGRTYPE [CHAR (10)]

 ICL_IBNR_RESULT-RESGRTYPE = TICL860-RESGRTYPE 

0..N

0..N


